TYBAF - VI SAPAN PARIKHCOMMERCE CLASSES

A.l
A Match the following (Any — 08) [Rewrite the sentence]
GROUP “A” GROUP “B”

1) Labour efficiency Variance A) Pre-determined cost

2) Imputed Cost B) Limiting Factor

3) Profit C) No Profit, No Loss stage

4) Idle time variances D) (standard Hours- Actual hours)*standard rate

S) Standard Cost E) Notional Cost

6) Marginal Cost F) Remains unchanged irrespective of the level of capacity or volume

7) Master Budget G) Contribution — fixed cost

8) Fixed Budget H) Always Unfavourable

9) BEP I) Prime cost + Variable overhead

10) Key Factor J) Summary of all Functional Budget

[Ans: (1 - D); (2 - E); (3- G); (4 - H); (5- A); (6 - I); (7 - J); (8 - F); (9 - C); (10 - B)]
B State whether the following statement is True/False & Rewrite the sentence (Any07) Ans.
1 Variable Overhead variance is a difference between standard overhead and actual overheads. TRUE
2 In make or buy decision only Marginal Cost is relevant. TRUE
3 P/V Ratio shows relationship between contribution and sales. TRUE
4 Budget is prepared for the future period. TRUE
5 Cash Budget shows budgeted receipts & payments. TRUE
6 Excess of actual cost over standard cost is a favourable variance. FALSE
7 Decision to accept or reject export order depends on fixed cost only. FALSE
8 Under Marginal Costing cost is classified on the basis of functions only. FALSE
9 A budget is expressed in financial terms only. FALSE
10 Variable cost remains fixed irrespective of Level of Activity. FALSE
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A.2
Particulars 2016 2017

(Rs.) (Rs.)
Sales 400,000 600,000
Less: Variable Cost 320,000 480,000
contribution 80,000 120,000
Less: Fixed Cost 40,000 40,000
Profit 40,000 80,000
P/v Ratio = cont/Sales*100 20%
Break Even Point = FC/PV*100 200,000
Margin of Safety = Sales - BEP 200,000

Required Sales = FC + Required Profit/P/V Ratio*100

Required Sales

780,000

7,80,000*20/100

40000 + 15000/20%*100
275,000
Fixed Cost + Required Profit*100

P/V
40000 + x 100

20
40,000 + x

156,000 40,000 + x

If Fixed Cost Increase by 25%

Increase Fixed Cost

Break Even Point = FC/PV*100

Cost Accounting

116,000
40,000 + 25%

50,000

250,000
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A.2 OR
Marginal cost statement (Rs. in lakhs)
Particulars A Merged Total
100% 60%| 100% 40%| 100% 100%
Sales 300 300 500 80 200 1,000
(-) Variable cost (180) (210) (350) (60) (150) (680)
Contribution 120 290 150 20 50 320
(-) Fixed Cost (70) (50) (50) (62) (62) (182)
Profit 50 40 100 (42) (12) 138
P/V Ratio = Contri *100 32
Sales
Break even capacity
Break even sales = Fixed cost
PVR
= 182
32%
= 568.75 lakhs
Break even Capacity = Break even sales  *100

Capacity sales
568.75  *100
1000
= 56.9 %

Sales at 80% capacity = 1,000*80%
= 800 lakhs

Required Sales = Fixed Cost + Required Profit*100

= P/V
800 = 182 +x *100
32
800*32/100 = 182 +x
256 = 182 + x
X = 74

Required Sales Fixed Cost + Required Profit*100

= P/V
= 182 +30 *100
32
= 662.5 lakhs

Cost Accounting APRIL, 2017 Kandivali (E) (W)93242 77778



TYBAF - VI
A.3
% Capacity Utilisation 80%

Budgeted Production 40,000
Prime Cost

Direct Material 320,000

Direct Labour 120,000
Total Prime Cost 440,000
Add Factory Overhead

Variable 40,000

Factory Overhad (Note 3) 175,000
Works Cost 655,000
Add: Office & Administration 300,000
Cost of Production 955,000
Add: Selling and Distribution

Variable (Note 4) 160,000

Fixed (Note 4) 150,000
Cost of Sales 1,265,000
Profit (20% on Sales or 25% on Cost) 316,250
Sales 1,581,250
1)
Direct Material Per unit 200,000

25,000
2)
Direct Labour Per unit 75,000
25,000

3)
Factory Overhead
Variable Cost per unit =

Cost Accounting

205000-200000
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30000 - 25000

Total Cost = Variable Cost + Fixed Cost
at 25,000 units, 2,00,000 = 25000(1) - Fixed Cost

Fixed Factory Cost = 175,000

4)
Selling & Dist

Variable Cost per unit = 270000-250000

30000 - 25000

Total Cost = Variable Cost + Fixed Cost
at 25,000 units, 2,50,000 = 25000(4) - Fixed Cost

Fixed Selling Cost = 150,000

Cost Accounting
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5000

20000 4 per unit
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A.3 OR
% Capacity Utilisation 50% 75% 100%
Budgeted Production
Fixed Expenses
Salary 1,520 1,520 1,520
Rent 1,056 1,056 1,056
Depreciation 1,184 1,184 1,184
Admin 1,040 1,040 1,040
4,800 4,800 4,800
Variable Overheads
Material 3,472 5,208 6,944
Labour 3,264 4,896 6,528
Expenses 1,264 1,896 2,528
8,000 12,000 16,000
Semi Variable Expenses
Repairs 560 616 672
Indirect Labour 1,264 1,390 1,517
Salesman Salary 608 669 730
Admin 448 493 538
2,880 3,168 3,456
Total Cost 15,680 19,968 24,256
Profit 320 4,032 7,744
Sales 16,000 24,000 32,000
Cost Accounting
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A.4 Calculation of Sales Variance
Given std Budeget 1 Actual 1
1 BQ SP Amt RQ AQ AP Amt
25,000 X 25,000 10 250,000 30,000 48,000 11 528,000
35,000 Y 35,000 11 385,000 42,000 36,000 10 360,000
40,000 Z 40,000 12 480,000 48,000 36,000 13 468,000
100000 100,000 1,115,000 120,000 120,000 1,356,000

Sales Value Variance (SVV) = BQ * SP - AQ * AP

X = 250,000 - 528,000 (278,000) F
Y = 385,000 - 360,000 25,000 A
y4 = 480,000 - 468,000 12,000 A
(241,000) F
Sales Price Variance (SPV) = (SP - AP) * AQ
X = (10-11) * 48,000 = (48,000) F
Y = (11-10) * 36,000 = 36,000 A
Z = (12-13) * 36,000 = (36,000) F
(48,000) F
Sales Volume Variance (SVV) = (BQ - AQ) * SP
X = (25000-48000)* 10 = (230,000) F
Y = (35000-36000)* 11 = (11,000) F
z = (40000-36000)* 12 = 48,000 A
(193,000) F
Sales Quantity Variance (LYV) = (BQ - RQ) * SP
X = (25000-30000)* 10 = (50,000) F
Y = (35000-42000)* 11 = (77,000) F
z = (40000-48000)* 12 = (96,000) F
(223,000) F
Sales Mix Variance (MMV) = (RQ - AQ) * SP
X = (30000-48000)* 10 = (180,000) F
Y = (42000-36000)* 11 = 66,000 A
y4 = (48000-36000)* 12 = 144,000 A
30,000 F
Check1 SVV=SPV+Svol.V (241,000) F
Check2 SVol.V=SQV +SMV (193,000) F
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A40R | Calculation of Material Variance
Given std STANDARD COST FOR 1 Actual Cost for 1
1 SQ SP Amt RQ AH AP Amt
5 L 5 20 100 5 7 22 154
8 M 8 30 240 8 5 28 140
7 N 7 40 280 7 8 41 328
20 20 620 20 20 622
Material Cost Variance (MCV) =SQ * SP - AH * AP
L = 100 - 154 (54) A
M = 240 - 140 100 F
N = 280 - 328 (48) A
(2) A
Material Price Variance (MPV) = (SP - AP) * AH
L = (20-22) * 7 = (14) A
M = (30-28) * 5 = 10 F
N = (40-41) * 8 = (8) A
(12) A
Material Usage Variance (LEV) = (SQ - AQ) * SP
L = (5-7)* 20 = (40) A
M = (8-5)* 30 = 90 F
N = (7 -8)* 40 = (40) A
10 F
Material Yield Variance (LYV) = (SQ - RQ) * SP
L = (5-5)* 20 = -
M = (8-8)* 30 = -
N = (7-7)* 40 = -
Material Mix Variance (MMV) = (RQ - AQ) * SP
L = (5-7)* 20 = (40) A
M = (8-5)* 30 = 90 F
N = (7-8)* 40 = (40) A
10 F
Check1 MCV=MPV + MUV = (2) A
Check2 MUV =MYV + MMV = 10 F
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